

Enquiries freecall 1800 230 099

GPO Box 1648 BRISBANE QLD 4001

Phone +07 3039 2828 Fax +07 3039 2829 investorrelations@trilogyfunds.com.au www.trilogyfunds.com.au

 Investor ID
 2000010129

 TFN/ABN
 Quoted

 Date
 9 May 2022

PAR SMSF Pty Ltd ATF PA Ryan Pension Fund GPO Box 1648 BRISBANE QLD 4001

Trilogy Group Holdings Trust

Periodic Statement for the period o1 July 2020 to 30 June 2021.

Ordinary

Opening Units	Opening Price	Opening Value	Closing Units	Closing Price	Closing Value
7,924,400.46	\$0.2298	\$1,821,027.23	7,924,400.46	\$0.8833	\$6,999,622.93

Date	Transaction Description	Amount (\$)	Unit Price	Units On	Units Off	Unit Balance
01/07/2020	Opening Balance	1,610,345.17	\$0.2298			7,007,594.29
01/07/2020	Investment - In	210,636.90	\$0.2298	916,806.17		7,924,400.46
30/06/2021	Distribution	935,103.71				7,924,400.46
30/06/2021	Closing Balance	6,999,622.93	\$0.8833			7,924,400.46

Return on Investment	Closing Value	Indirect Costs of your Investment (inclusive of GST less RITC, where applicable)	
\$6,113,744.57	\$6,999,622.93	\$0.00	\$0.00

DISCLAIMER:

For the Financial Year on July 2020 - 30 June 2021

Indirect Costs of your Investment

This approximate amount has been deducted from your investment and includes amounts that have reduced the return on your investment but are not charged directly to you as a fee.

This is an indirect cost of your investment which is incorporated in the unit price. These costs may affect the return on your investment.

These costs cannot be claimed as a deduction in your income tax return.

Opening Value

Opening values are quoted with the number of units held at the beginning of the period, multiplied by the unit price at the beginning of the current pricing period.

Closing Value

Closing values are quoted with the number of units held at the end of the period, multiplied by the unit price at the end of the current pricing period.

Complaints Handling

Trilogy prides itself on the level of service provided to investors, however there may be instances where you believe we have not met your expectations as to our products or services or our complaints handling process. If you have such a complaint, please contact Investor Relations in the first instance so we can address the issue. If it is not resolved to your satisfaction, you can lodge a complaint with the Australian Financial Complaints Authority (AFCA). AFCA provides fair and independent financial services complaint resolution that is free to consumers.

Website: www.afca.org.au Email: info@afca.org.au

Telephone: 1800 931 678 (free call)

In writing to: Australian Financial Complaints Authority, GPO Box 3, Melbourne VIC 3001

Questions?

If you have any questions regarding your investment please contact our Investor Relations team on 1800 230 099 or on

investorrelations@trilogyfunds.com.au.

Total Fees you Paid

This approximate amount includes all the fees and costs which affected your investment during the period. Please refer to the latest Product Disclosure Statement for full details of fees or costs which affect your investment.

These costs cannot be claimed as a deduction in your income tax return.

If you chose to pay an upfront or ongoing adviser fee for this Trilogy product, these fees have not been incorporated into the return on investment or direct cost calculation within this statement.

Return on Investment



Enquiries freecall 1800 230 099

GPO Box 1648 BRISBANE QLD 4001

Phone +07 3039 2828 Fax +07 3039 2829 investorrelations@trilogyfunds.com.au www.trilogyfunds.com.au

 Investor ID
 2000098251

 TFN/ABN
 Quoted

 Date
 9 May 2022

RJ146 Pty Ltd GPO Box 1648 BRISBANE QLD 4001

Trilogy Group Holdings Trust

Periodic Statement for the period o1 July 2020 to 30 June 2021.

Ordinary

Opening Units	Opening Price	Opening Value	Closing Units	Closing Price	Closing Value
35,659,802.05	\$0.2298	\$8,194,622.51	35,659,802.05	\$0.8833	\$31,498,303.15

Date	Transaction Description	Amount (\$)	Unit Price	Units On	Units Off	Unit Balance
01/07/2020	Opening Balance	7,246,553.25	\$0.2298			31,534,174.28
01/07/2020	Investment - In	947,866.05	\$0.2298	4,125,627.77		35,659,802.05
30/06/2021	Distribution	4,207,966.65				35,659,802.05
30/06/2021	Closing Balance	31,498,303.15	\$0.8833			35,659,802.05

Return on Investment	Closing Value	Indirect Costs of your Investment (inclusive of GS less RITC, where applicable)	
\$27,511,850.50	\$31,498,303.15	\$0.00	\$0.00

DISCLAIMER:

For the Financial Year on July 2020 - 30 June 2021

Indirect Costs of your Investment

This approximate amount has been deducted from your investment and includes amounts that have reduced the return on your investment but are not charged directly to you as a fee.

This is an indirect cost of your investment which is incorporated in the unit price. These costs may affect the return on your investment.

These costs cannot be claimed as a deduction in your income tax return.

Opening Value

Opening values are quoted with the number of units held at the beginning of the period, multiplied by the unit price at the beginning of the current pricing period.

Closing Value

Closing values are quoted with the number of units held at the end of the period, multiplied by the unit price at the end of the current pricing period.

Complaints Handling

Trilogy prides itself on the level of service provided to investors, however there may be instances where you believe we have not met your expectations as to our products or services or our complaints handling process. If you have such a complaint, please contact Investor Relations in the first instance so we can address the issue. If it is not resolved to your satisfaction, you can lodge a complaint with the Australian Financial Complaints Authority (AFCA). AFCA provides fair and independent financial services complaint resolution that is free to consumers.

Website: www.afca.org.au Email: info@afca.org.au

Telephone: 1800 931 678 (free call)

In writing to: Australian Financial Complaints Authority, GPO Box 3, Melbourne VIC 3001

Questions?

If you have any questions regarding your investment please contact our Investor Relations team on 1800 230 099 or on

investorrelations@trilogyfunds.com.au.

Total Fees you Paid

This approximate amount includes all the fees and costs which affected your investment during the period. Please refer to the latest Product Disclosure Statement for full details of fees or costs which affect your investment.

These costs cannot be claimed as a deduction in your income tax return.

If you chose to pay an upfront or ongoing adviser fee for this Trilogy product, these fees have not been incorporated into the return on investment or direct cost calculation within this statement.

Return on Investment



Enquiries freecall 1800 230 099

GPO Box 1648 BRISBANE QLD 4001

Phone +07 3039 2828 Fax +07 3039 2829 investorrelations@trilogyfunds.com.au www.trilogyfunds.com.au

 Investor ID
 2000098259

 TFN/ABN
 Quoted

 Date
 9 May 2022

Dranlex Pty Ltd <Ryan Family Trust> GPO Box 1648 BRISBANE QLD 4001

Trilogy Group Holdings Trust

Periodic Statement for the period o1 July 2020 to 30 June 2021.

Ordinary

Opening Units	Opening Price	Opening Value	Closing Units	Closing Price	Closing Value
7,924,400.46	\$0.2298	\$1,821,027.23	7,924,400.46	\$0.8833	\$6,999,622.93

Date	Transaction Description	Amount (\$)	Unit Price	Units On	Units Off	Unit Balance
01/07/2020	Opening Balance	1,610,345.17	\$0.2298			7,007,594.29
01/07/2020	Investment - In	210,636.90	\$0.2298	916,806.17		7,924,400.46
30/06/2021	Distribution	935,103.71				7,924,400.46
30/06/2021	Closing Balance	6,999,622.93	\$0.8833			7,924,400.46

Return on Investment	Closing Value	Indirect Costs of your Investment (inclusive of GST less RITC, where applicable)	
\$6,113,744.57	\$6,999,622.93	\$0.00	\$0.00

DISCLAIMER:

For the Financial Year on July 2020 - 30 June 2021

Indirect Costs of your Investment

This approximate amount has been deducted from your investment and includes amounts that have reduced the return on your investment but are not charged directly to you as a fee.

This is an indirect cost of your investment which is incorporated in the unit price. These costs may affect the return on your investment.

These costs cannot be claimed as a deduction in your income tax return.

Opening Value

Opening values are quoted with the number of units held at the beginning of the period, multiplied by the unit price at the beginning of the current pricing period.

Closing Value

Closing values are quoted with the number of units held at the end of the period, multiplied by the unit price at the end of the current pricing period.

Complaints Handling

Trilogy prides itself on the level of service provided to investors, however there may be instances where you believe we have not met your expectations as to our products or services or our complaints handling process. If you have such a complaint, please contact Investor Relations in the first instance so we can address the issue. If it is not resolved to your satisfaction, you can lodge a complaint with the Australian Financial Complaints Authority (AFCA). AFCA provides fair and independent financial services complaint resolution that is free to consumers.

Website: www.afca.org.au Email: info@afca.org.au

Telephone: 1800 931 678 (free call)

In writing to: Australian Financial Complaints Authority, GPO Box 3, Melbourne VIC 3001

Questions?

If you have any questions regarding your investment please contact our Investor Relations team on 1800 230 099 or on

investorrelations@trilogyfunds.com.au.

Total Fees you Paid

This approximate amount includes all the fees and costs which affected your investment during the period. Please refer to the latest Product Disclosure Statement for full details of fees or costs which affect your investment.

These costs cannot be claimed as a deduction in your income tax return.

If you chose to pay an upfront or ongoing adviser fee for this Trilogy product, these fees have not been incorporated into the return on investment or direct cost calculation within this statement.

Return on Investment



Enquiries freecall 1800 230 099

GPO Box 1648 BRISBANE QLD 4001

Phone +07 3039 2828 Fax +07 3039 2829 investorrelations@trilogyfunds.com.au www.trilogyfunds.com.au

 Investor ID
 2000098253

 TFN/ABN
 Quoted

 Date
 9 May 2022

The Smart Guardian Pty Ltd <Clarebrook Family Trust No 2> 16 Sixth Avenue Sandgate QLD 4017

Trilogy Group Holdings Trust

Periodic Statement for the period o1 July 2020 to 30 June 2021.

Ordinary

Opening Units	Opening Price	Opening Value	Closing Units	Closing Price	Closing Value
3,600,662.69	\$0.2298	\$827,432.29	3,600,662.69	\$0.8833	\$3,180,465.35

Date	Transaction Description	Amount (\$)	Unit Price	Units On	Units Off	Unit Balance
01/07/2020	Opening Balance	731,703.28	\$0.2298			3,184,087.36
01/07/2020	Investment - In	95,708.49	\$0.2298	416,575.32		3,600,662.69
30/06/2021	Distribution	424,889.30				3,600,662.69
30/06/2021	Closing Balance	3,180,465.35	\$0.8833			3,600,662.69

Return on Investment	Closing Value	Indirect Costs of your Investment (inclusive of GST less RITC, where applicable)	
\$2,777,942.89	\$3,180,465.35	\$0.00	\$0.00

DISCLAIMER:

For the Financial Year on July 2020 - 30 June 2021

Indirect Costs of your Investment

This approximate amount has been deducted from your investment and includes amounts that have reduced the return on your investment but are not charged directly to you as a fee.

This is an indirect cost of your investment which is incorporated in the unit price. These costs may affect the return on your investment.

These costs cannot be claimed as a deduction in your income tax return.

Opening Value

Opening values are quoted with the number of units held at the beginning of the period, multiplied by the unit price at the beginning of the current pricing period.

Closing Value

Closing values are quoted with the number of units held at the end of the period, multiplied by the unit price at the end of the current pricing period.

Complaints Handling

Trilogy prides itself on the level of service provided to investors, however there may be instances where you believe we have not met your expectations as to our products or services or our complaints handling process. If you have such a complaint, please contact Investor Relations in the first instance so we can address the issue. If it is not resolved to your satisfaction, you can lodge a complaint with the Australian Financial Complaints Authority (AFCA). AFCA provides fair and independent financial services complaint resolution that is free to consumers.

Website: www.afca.org.au Email: info@afca.org.au

Telephone: 1800 931 678 (free call)

In writing to: Australian Financial Complaints Authority, GPO Box 3, Melbourne VIC 3001

Questions?

If you have any questions regarding your investment please contact our Investor Relations team on 1800 230 099 or on

investorrelations@trilogyfunds.com.au.

Total Fees you Paid

This approximate amount includes all the fees and costs which affected your investment during the period. Please refer to the latest Product Disclosure Statement for full details of fees or costs which affect your investment.

These costs cannot be claimed as a deduction in your income tax return.

If you chose to pay an upfront or ongoing adviser fee for this Trilogy product, these fees have not been incorporated into the return on investment or direct cost calculation within this statement.

Return on Investment



Enquiries freecall 1800 230 099

GPO Box 1648 BRISBANE QLD 4001

Phone +07 3039 2828 Fax +07 3039 2829 investorrelations@trilogyfunds.com.au www.trilogyfunds.com.au

 Investor ID
 2000097756

 TFN/ABN
 Quoted

 Date
 9 May 2022

Justin Smart & Darlene Smart <Clarebrook Superannuation Fund> 16 Sixth Avenue SANDGATE QLD 4017

Trilogy Group Holdings Trust

Periodic Statement for the period o1 July 2020 to 30 June 2021.

Ordinary

Opening Units	Opening Price	Opening Value	Closing Units	Closing Price	Closing Value
4,323,737.77	\$0.2298	\$993,594.94	4,323,737.77	\$0.8833	\$3,819,157.57

Date	Transaction Description	Amount (\$)	Unit Price	Units On	Units Off	Unit Balance
01/07/2020	Opening Balance	878,641.89	\$0.2298			3,823,506.92
01/07/2020	Investment - In	114,928.41	\$0.2298	500,230.85		4,323,737.77
30/06/2021	Distribution	510,214.39				4,323,737.77
30/06/2021	Closing Balance	3,819,157.57	\$0.8833			4,323,737.77

Return on Investment	Closing Value	Indirect Costs of your Investment (inclusive of GS less RITC, where applicable	
\$3,335,801.66	\$3,819,157.57	\$0.00	\$0.00

DISCLAIMER:

For the Financial Year on July 2020 - 30 June 2021

Indirect Costs of your Investment

This approximate amount has been deducted from your investment and includes amounts that have reduced the return on your investment but are not charged directly to you as a fee.

This is an indirect cost of your investment which is incorporated in the unit price. These costs may affect the return on your investment.

These costs cannot be claimed as a deduction in your income tax return.

Opening Value

Opening values are quoted with the number of units held at the beginning of the period, multiplied by the unit price at the beginning of the current pricing period.

Closing Value

Closing values are quoted with the number of units held at the end of the period, multiplied by the unit price at the end of the current pricing period.

Complaints Handling

Trilogy prides itself on the level of service provided to investors, however there may be instances where you believe we have not met your expectations as to our products or services or our complaints handling process. If you have such a complaint, please contact Investor Relations in the first instance so we can address the issue. If it is not resolved to your satisfaction, you can lodge a complaint with the Australian Financial Complaints Authority (AFCA). AFCA provides fair and independent financial services complaint resolution that is free to consumers.

Website: www.afca.org.au Email: info@afca.org.au

Telephone: 1800 931 678 (free call)

In writing to: Australian Financial Complaints Authority, GPO Box 3, Melbourne VIC 3001

Questions?

If you have any questions regarding your investment please contact our Investor Relations team on 1800 230 099 or on

investorrelations@trilogyfunds.com.au.

Total Fees you Paid

This approximate amount includes all the fees and costs which affected your investment during the period. Please refer to the latest Product Disclosure Statement for full details of fees or costs which affect your investment.

These costs cannot be claimed as a deduction in your income tax return.

If you chose to pay an upfront or ongoing adviser fee for this Trilogy product, these fees have not been incorporated into the return on investment or direct cost calculation within this statement.

Return on Investment



Enquiries freecall 1800 230 099

GPO Box 1648 BRISBANE QLD 4001

Phone +07 3039 2828 Fax +07 3039 2829 investorrelations@trilogyfunds.com.au www.trilogyfunds.com.au

 Investor ID
 2000098352

 TFN/ABN
 Quoted

 Date
 9 May 2022

JCB Pension Pty Ltd <JCB Pension Fund> 153 Seaforth Crescent Seaforth NSW 2092

Trilogy Group Holdings Trust

Periodic Statement for the period o1 July 2020 to 30 June 2021.

Ordinary

Opening Units	Opening Price	Opening Value	Closing Units	Closing Price	Closing Value
19,811,001.13	\$0.2298	\$4,552,568.06	19,811,001.13	\$0.8833	\$17,499,057.30

Date	Transaction Description	Amount (\$)	Unit Price	Units On	Units Off	Unit Balance
01/07/2020	Opening Balance	4,025,862.92	\$0.2298			17,518,985.71
01/07/2020	Investment - In	526,592.25	\$0.2298	2,292,015.43		19,811,001.13
30/06/2021	Distribution	2,337,759.25				19,811,001.13
30/06/2021	Closing Balance	17,499,057.30	\$0.8833			19,811,001.13

Return on Investment	Closing Value	Indirect Costs of your Investment (inclusive of GST less RITC, where applicable)	
\$15,284,361.38	\$17,499,057.30	\$0.00	\$0.00

DISCLAIMER:

For the Financial Year on July 2020 - 30 June 2021

Indirect Costs of your Investment

This approximate amount has been deducted from your investment and includes amounts that have reduced the return on your investment but are not charged directly to you as a fee.

This is an indirect cost of your investment which is incorporated in the unit price. These costs may affect the return on your investment.

These costs cannot be claimed as a deduction in your income tax return.

Opening Value

Opening values are quoted with the number of units held at the beginning of the period, multiplied by the unit price at the beginning of the current pricing period.

Closing Value

Closing values are quoted with the number of units held at the end of the period, multiplied by the unit price at the end of the current pricing period.

Complaints Handling

Trilogy prides itself on the level of service provided to investors, however there may be instances where you believe we have not met your expectations as to our products or services or our complaints handling process. If you have such a complaint, please contact Investor Relations in the first instance so we can address the issue. If it is not resolved to your satisfaction, you can lodge a complaint with the Australian Financial Complaints Authority (AFCA). AFCA provides fair and independent financial services complaint resolution that is free to consumers.

Website: www.afca.org.au Email: info@afca.org.au

Telephone: 1800 931 678 (free call)

In writing to: Australian Financial Complaints Authority, GPO Box 3, Melbourne VIC 3001

Questions?

If you have any questions regarding your investment please contact our Investor Relations team on 1800 230 099 or on

investorrelations@trilogyfunds.com.au.

Total Fees you Paid

This approximate amount includes all the fees and costs which affected your investment during the period. Please refer to the latest Product Disclosure Statement for full details of fees or costs which affect your investment.

These costs cannot be claimed as a deduction in your income tax return.

If you chose to pay an upfront or ongoing adviser fee for this Trilogy product, these fees have not been incorporated into the return on investment or direct cost calculation within this statement.

Return on Investment